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EXAM DA TE: 23-Januar y-2018
EXAM N AME : SSC Examination
TOTALM ARKS: 200

QID : 1001 - In the following question, select the related word pair from the given alternatives.

Heart:Organ::?:?
FreafefeEd v A By 7y faeat 7 4§ ddfia sz g ot gy

-Cy B ) S
Options:

1) Bus : Vehicle
ER IR

2) Car: Road
TR . Hgh

3) Ship : Sea
Sl L R

4) Train : Rail
TerTTet et

Correct Answer; Bus : Vehicle
o9 g

Candidate Answer: Bus : Vehicle
=9 grgd

QID : 1002 - In the following question, select the related word from the given alternatives.

Big: Small : : Solid : ?
Fraferfeaa ne A By my et A § d9edfta weg =&t gfm

Er e R
Options:

1) Metal

urg

2) Liquid

GEG

3) Smoke

garm

4) Cold

a1

Correct Answer: Liguid
GG

Candidate Answer: Liquid
GG

QID : 1003 - In the following question, seiect the related word from the given alternatives.

Calculator : Calculations : : Scale: 7

Freaferias nar & w7y Rl A 4 9l = &6t g
heTeRIFER [ O ;W 7

Options:

1) Inches

EE)

2) Centimeters
Hefter

3) Measure
HIYT

4) Steel
i

Correct Answer: Measure
HIGAT
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Candidate Answer. Measure
HIGAT

QID : 1004 - In the following question, select the related letters from the given alternatives.
MUFT : PXIW :: GONE : ?
Frefeas na & few g e 4 € 9= orer &6t 9w

MUFT : PXIW :: GONE: ?

Options:
1) HMRL

2) JSPA

3) JRQH

4) HORF

Correct Answer: JRQH

Candidate Answer: JROH

QID : 1005 - In the following question, select the related letters from the given alternatives.
PINK:TMRO ::SOLD: ?

e ne 7 By My et A 9 gdfta srert ot g
PINK:TMRO ::SOLD: ?

Options:

1) HQTX

2) WSPH

3) HAQV

4) AQBH

Correct Answer: WSPH

Candidate Answer: WSPH

QID : 1006 - In the following question, select the related letters from the given alternatives.
SWIVA:I:LT:?

Frefeias na & g 7y feedt 4 § 9= ser o6t 9w
SWIVA:I:ILT:?

Options:

1) NY

2) LA

3) 0X

4) oL
Correct Answer: 0X
Candidate Answer: 0X

QID : 1007 - In the following question, select the related number pair from the given alternatives.

Frferas na & few my Rt A < 9= e gm & gl
19:363::7:?

Options:

1) 16 : 259

2)13:171

3)14:199

4)14:195
Correct Answer: 13 . 171
Candidate Answer: 13171
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QID : 1008 - In the following question, select the related number from the given alternatives.
42:105::38:7
Frefeas na & few g Reed 4 § 9= d=n & gl

42:105::38:?
Options:

1111

2)135

3)95

4)83
Correct Answer: 95
Candidate Answer: [ NOT ANSWERED |

QID : 1009 - In the following question, select the related number from the given alternatives.
24:39::49:%
e ue 7 By 1y et 7 9 gdfta e «t g

24:39::49:7
Options:
1) 68

2) 64
3) 69

4) 79
Correct Answer: 64
Candidate Answer: 64

QID : 1010 - In the following question, select the odd word from the given alternatives.

Frefeias na & feg g Rt 4 4 v s g
Options:

1) Liver

Teped

2) Intestine
S

3) Organ
3T

4) Lungs
thihe

Correct Answer: Organ
3

Candidate Answer: Organ
Eing

QID : 1011 - In the following question, select the odd word from the given alternatives.

freferfes ny d g o et 4 4 faws = w1 gl

Options:
1) Black
RIAT

2) Yellow
picif

3) Rainbow

EEREG

4) Pink

Tetret

Correct Answer: Rainbow
EERE L

Candidate Answer: Rainbow
EELELE

QID : 1012 - In the following question, select the odd word from the given alternatives.

Fraferfaa ne A oy g Taeedt # 9 faww usg & g
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Options:
1) Arteries
et

2) Veins
EE]

3) Hand
e

4! Bones

Correct Answer: Hand
1Y

Candidate Answer: Hand
BIY

QID : 1013 - In the following question, select the odd letters from the given alternatives.

Freaferas na & fiw 7y et 4 € fww sieri & g

Options:

1) RLF

2) MGA

3) EYR

4) HBY

Correct Answer: EYR

Candidate Answer: EYR

QID : 1014 - In the following question, select the odd letters from the given alternatives.

Frefeias na & fw 7y feeat 4 4 fww sisri & g
Options:

1) IR

2) KP

3)GT

4) OV

Correct Answer: OV

Candidate Answer: OV

QID : 1015 - In the following question, select the odd letters from the given alternatives.

Freaferfad ue 7 By my et 7 8 faww ssd @t g
Options:

1) XTQMJ

2) FBYUR

3) GCZVS

4) TPMIE

Correct Answer: TPMIE
Candidate Answer: XTQM.J

QID : 1016 - In the following question, select the odd number from the given alternatives.

Frafefead ne A By my et 7 4 faww g &3m0
Options:

1)4-21

2)7 - 54

3)6 - 41

4)3-16

Correct Answer: 3 — 16

Candidate Answer: 3 — 16

QID : 1017 - In the following question, select the odd number pair from the given alternatives.

Freferas na & g g Rl § 4 faws Tz gm 1 gl

Options:

H11-17

2) 23 - 31

3) 43 - 59

4)41-47

Correct Answer: 43 - 59
Candidate Answer: 23 - 31

QID: 1018 - In the following question, select the odd number pair from the given alternatives.

FrefaaEs ne & iy 7y Rieveat 3 4 fww dwem gm &1 gfig)
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Options:

1)12 - 156

2)13-182

3)14- 210

4) 15 - 230

Correct Answer: 15 - 230
Candidate Answer: 15 - 230

QID : 1019 - Arrange the given words in the sequence in which they oceur in the dictionary.

1. Shocking
2. Shiver

3. Shelter
4. Shorten
5. Shudder

frfafae areel w6t areaenter 5 o= a1e o 3 o ferdl

1. Shocking
2. Shiver

3. Shelter
4., Shorten
5. Shudder

Options:
1) 23145

2) 32145
3) 14523

4) 41523
Correct Answer: 32145
Candidate Answer: 32145

QID ; 1020 - According to dictionary, which of the following word will come at LAST position?

1. Operation
2. Orderly

3. Openly

4, Opulent
5. Oral

eI & AR, FEfET 7 § 19 97 9w 9iferm T ur e

1. Operation
2. Orderly

3. Openly

4. Opulent
5. Oral

Options:
1) Oral

2) Orderly
3) Opulent

4) Operation
Correct Answer: Orderly
Candidate Answer: Orderly

QID : 1021 - From the given alternatives, according to dictionary, which word will come at THIRD position?

fag My et & @, arsgeRtal & IFER, HH T 1 dER W R

Options:
1) Passage

2) Pastime
3) Patience

4) Pathetic
Correct Answer: Pathetic
Candidate Answer: Pathetic
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QID: 1022 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AGM, FLR, KQW, PVB, ?

U 1A for T &, (o @ U ue e 21 ey g et | @ 9 9 fiehed g, Sit orea & maw |

AGM, FLR, KQW, PVB, ?

Options:

1) UAG

2) VLC

3) CGN

4) PNO

Correct Answer: UAG

Candidate Answer: UAG

QID : 1023 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FROM, CNLI, ZJIE, WFFA, ?

TeR SigeRA a1 T &, [ § ua ve g 81 B e et 7 € a8 wet e g, @t argen @ gu

FROM, CNLI, ZJIE, WFFA, ?

Options:
1) ACNG

2) TCCX
3) TBCW

4) FRIP
Correct Answer: TBCW
Candidate Answer: TECW

QID: 1024 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
TRO, PNK, LJG, 7, DBY

U 1A for T §, o @ U ue e 21 iy g et | @ 9 @) ened g, St sige o Qi amR

TRO, PNK, LJG, 7, DBY

Options:

1) FBC

2) FNB

3) FRN

4) HFC

Correct Answer: HFC

Candidate Answer: HFC

QID : 1025 - In the following question, select the missing number from the given series.
11,16,21,13,19,25,15,22,29,7,25
Freafefeaa ne A By my et 7 9 g s 7 Sifeq
11,16,21,13,19,25,15,22,29,7,25

Options:

118

2)17

3)19

Hn
Correct Answer. 17
Candidate Answer; [ NOT ANSWERED ]

QID : 1026 - In the following question, select the missing number from the given series.
2112,2328, 2671,3183,7,4912
Frrferiam na A ey my Rt | @ g e T FifSg)

2112,2328, 2671,3183, 7, 4912
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Options:
1) 3826

2) 3742
8) 3912

4) 3992
Correct Answer: 3912
Candidate Answer: [ NOT ANSWERED ]

QID : 1027 - In the following question, select the missing number from the given series.
21,22, 34.5,71,180, 543,7
Frefeias na & iy 7y faeedt 4 € g ofw 719 e

21,22, 34.5, 71,180, 543, 7

Options:
1) 1864

2) 2234
3) 2336

4) 1904
Correct Answer: 1904
Candidate Answer: [ NOT ANSWERED |

QID : 1028 - M is 2 years older than P. L is 2 years older than 0. O's age is the average of the ages of L and N, P's age is the average of the ages of L and M and L's age
is the average of P and 0. Who is the youngest?

M PI2TATSTEIL, O 2T 92181 O Y omg L 3 N & 1 o1 oI 8, ofk P el a1 L 5tz M &7 3mg o1 o d & 917 L 31 3irg P 3R O ol o1 o 3191 31 99 Btel &
27

Options:

1)L

M

3)N

4)0

Correct Answer: N

Candidate Answer: [ NOT ANSWERED ]

QID : 1029 - X said to Y that your mother's father-in-law's wife is mather-in-law of my father. How are X and Y related?

XY & gl &6 el A7 & TR & et A U i a| g1 X SR Y U i § el walfea &2

Options:

1) X is sister's husband of ¥

XY@ agTshaas

2) X is child of Y's father's sister
X, Y & foren & ag s = @

3) Y is father's brother of X

Y, X & forar & ond &

4) Y is sister's husband of X

Y, X &1 &5 & ufar §

Correct Answer: X is child of Y's father's sister
X, Y s o ot 5 & w=r &

Candidate Answer: [ NOT ANSWERED ]

QID : 1030 - From the given alternative words select the word which cannot be formed using the letters of the given word.
GEOGRAPHIC

Freafefaa fameat & @ ag wree =T ot &g 17 vieg & &Rt o UaeT @eds Tt a-raT o Sehal:

GEOGRAPHIC

Options:
1) cheap

2) rogue
3) price

4) graph
Correct Ariswer: rogue
Candidate Answer: rogue
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QID: 1031 - If BANQUET is coded as ZYLOSCR, then how will NEW be coded as?

Tf% BANQUET =t @i # ZYLOSCR foran i & af NEW @t @is # & e simgm?

Options:
1) MVD

2) MDV
3) LCU

4) OFX
Correct Answer: LCU
Candidate Answer: LCU

QID : 1032 - In a certain code language, 9124 means 'run around the block’, 2548 means 'don't block the path’ and 4763 means 'chock a hlock full'. Find the code for
‘the',
femelt FifEa et W & 9124 =67 a12f € 'run around the block', 2548 @1 372 £ 'don't block the path' 3fix 4763 @1 312 £ 'chock a block full'| 'the' & oy it 7@ &

Options:
1)1

2)9
3)2

4) 4
Correct Answer: 2
Candidate Answer: 2

o [
1

QID: 1033 - In a certain code language, '+ represents -, - represents ‘¥, 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
90x10+25-5+50="7
ot Pifm s ww '+, - i veRia a=ar &, -, ‘% & uafia s &, %, '+ ot vafdia o & ok <, '+ ot velda o g1 Feafafes v e s I

90x10+25-5+50=7
Options:

1) 81

2) 84

3)100

4) 48

Caorrect Answer: 84
Candidate Answer: 84

QID:1034-1f11@7=2,18@ 0=9 and 22 @ 20 = 1, then find the value of 16 @ 10 =7

11 @7=2,18@0=9R22@20="1,at16 @ 10 = ? & 9 I F?
Options:

16

2) 160

3) 26

4)3

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED |

QID :1035- If A * B means A is father of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C * D % E + F mean?

TR A*BH AfEfFA B A+Ba i 2 A B T iR aR AU B At A BRI THEAC*D R E+ Faraar s g2

Options:

1) Cis F's husband

C Farufag

2) Cis F's wife's brother

C, F &l gt T 918 &

3) Cis father of F

C Fafomng

4) Cis F's sister's husband
CFHiagaamufdg

Correct Answer: C is F's sister's husband
CFHiagaamufidg

Candidate Answer: C is F's sister's hushand
C FRrasTaI Ul &
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QID:1036-

Select the missing number from the given responses

fe g et 7 & ofw e gl

8 10 2

17 19 10

Options:
101

2)9
3)-1

4)-9
Correct Answer: 9
Candidate Answer: 9

QID : 1037 - Which of the following terms follows the trend of the given list?
CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
Frefeiea # & i a1 us &1 7l T & A & a7

CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
Options:

1) ABABABACB

2) ABABABCAB

3) ABABACBAB

4) ABABABABC

Correct Answer: ABABACBAB

Candidate Answer: ABABACBAB

QID : 1038 - A ship starts from the port and sails 43 miles East, then it turng South and sails 17 miles, then it turns West and sails 25 miles, then it turns to its right and
sails 17 miles. Where is it with respect to the port fram where it started?

Ueh G Uic ¥ T WRH Shedl & 3¢ G 2t 3712 43 Hiet aoran &1 fhe O oleimr &t JiR 4ga1 & 312 17 Aie Jear 5| [ 75 ufsA &t 3R oo 25 #ia Toa & 3R e arfe-t o
Hoax 17 #ie 9ol &1 99 uie 9 58 S 3 =rein o 3507 27 399 o/d g STers a1 g3t oY 87

Options:

1) 18 miles West

18 et ufgw

2) 68 miles East
68 e gd

3) 18 miles East
18 e g

4) 68 miles West

68 Hter ufdw

Correct Answer: 18 miles East
18 ffe g

Candidate Answer; 18 miles West
18 e oidm

QID : 1039 - Two planes start from the same strip. Plane P flies 15 miles West, then turns left flies 22 miles and lands. In the meanwhile plane Q flies 7 miles South,
then flies 11 miles East, then tums to its right, flies 15 miles and lands. Where is plane Q with respect to plane P?

% @ e & [y O 9w uE 7d §1 w4 P 15 Wi ufgw & sik godar & ik e aré ok g 22 e 957 & 915 e ear 21 9 'Ha W Q, 7 Hie afgr Fi o Igar 2 i fiw
11 Hiel g &t i ISaT & aul [T ST 318 3T Heae 15 Fi 3&- & a1 o6 &l g1 @i P 2 des # =i Q &gl 87
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Options:

1) 26 miles East
26 Hie gd

2) 26 miles West
26 Hter i

3) 4 miles East
4T gd

4) 4 miles West
4 vt ufaH

Correct Answer: 26 miles East
26 Hiagd

Candidate Answer: 26 miles East
26 e g

QID : 1040 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements te be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement |: All officers are mothers
Statement Il: Some doctors are mothers

Conclusion [: All doctors are mothers
Conclusion Il: Some mothers are officers

uer § gt sre R T & s o & e | ofi= 1| Freeret 8 €1 oot T & o <N e g @ 9T O T S a9 vl g et engent ol s @ f Ry o
et & & o/ RS w0 § wue g gt R 91 e &/8ad 8, ot wig ghl

YA | g Siffthel 7g &
&Y |l 3o Siaed A &

e |; ot Siaee Ag €
et |I: g w1 Hftheet &
Options:

1) Only conclusion | follows
e | TEt B
2) Only conclusion Il follows
i e
3) Both conclusions | and Il follow
gt e | ofe |l wdt 2
4) Neither conclusion | nor conclusion Il follows

1t Freeme | /et & A7 8RR )

Correct Answer: Only conclusion Il follows
ehae e || wgt 8

Candidate Answer: Only conclusion Il follows
e e || o8 8

QID : 1041 - In the question three statements are given, followed by three conciusions, |, Il and Ill. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All desert is jungle
Statement II: All sand is desert
Statement Ill: No trees are jungle

Conclusion I: No trees are desert
Conclusion II: No sand is trees
Conclusion lIl: All jungle is sand

s A a1 e B T € S st i Fresd |, 11 3R 1| Fiemet 73 &1 suent a1 & o T @mem o & =18 9 9ga: 71d 9wl © M udla gie &t smaest ol s & it Re o
et & & si-1/@A-2 [iEE B9 2 sye g1 T e 9 Tehar 8/0 8, afe i gl

YA | gt e S &
Y |1 gt W Teuw &
A Il i 08 SE TE

freend | & o9 TRRyE TR ©
e | S WA e &
fAere Il vt S 3 &
Options:

1) Only conclusion | follows

e (er | HEl
2) Only conclusion |l follows
m%\m‘ || &el e

3) Only conclusions | and Il follow
fereeef | ofR 1 Tt &
4) Mone of the conelusions follow

s 1, 1 R 1 ot AgT 8

Correci Answer: Only conclusions | and |l follow
et e | Sl TR g
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Candidate Answer: Only conclusions | and Il follow
e e | siR 1 Tt 2

QID: 1042 -
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

frrferRad STR ammpfar & & Bi4 | & fey v oy
STTFT & ot B | 1T &1 ST FebelT?

Options:
1

e

&0

0

W
—

2

b <0

www.ErForum.Net
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Correct Answer:

p

Candidate Answer:

pR

QID: 1043 -
Which of the following answer figure patterns
can be combined fo make the question figure?
fA=feRae S sl 3 & i A ufeasdt &
SIS 3T T T3 TTPher Y AT 971 el 22

Options:

1

2)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED |
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QID: 1044-

In the following figure, square represents Artists, triangle
represents Military officers, circle represents collectors and
rectangle represents Fathers. Which set of letters
represents collectors who are either military officers or
fathers?

fPr=ferfac fors & af, wenerY @1 wefdia @var &, B fifad
IR BT el ave &, g, deraes oY wefdia gt & o
ST foremaY @t wefifer @ &1 SreRT @ B a1 9 9
Beraed B yafiia Hear & o ar a Al siiftvad & ar far
&

Options:
1) H

2)B
36

4)F
Correct Answer: F
Candidate Answer: F

QID: 1045-

Which of the following Venn diagrams represents the
relationship between Women, Mothers and Teachers 7

fr=foriaa ¥ & i |1 a7 forF wieman, 7iai aik f2remr
& i ey gofar 87
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Options:
]

2)

3)

P Q@ @

4)

@

Correct Answer:

@

Candidate Answer:

&

QID: 1046 -

www.ErForum.Net

Which answer figure will complete the pattern in the

question figure?

e & & - IR snafer wy snpfar & uftey

Y qRT BT

N

2e

www.ErForum.Net
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Options:
h]

2)

8)

4

Correct Answer:

Candidate Answer:

QID: 1047 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

&Y it SR Sgpfrll ¥ & I 3pfay Y g R vy
iy ffee &
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Options:
]

/\
AN
\V/

2)

8)

4

Correct Answer:
/ /AN
£ N
/ AN\
Z_X

Candidate Answer:

P iFL%Y
L\
JAVANAN
2N
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QID: 1048 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T STTPIIN ¥ FaRATY SR IS BT HISPR I
B PR AT Tl & I1S I8 fohey STR Tepfer Siar
feag am?

4

Options:
]

ovo
O o ©O
>0 _0<
o B o

O A0

2)

3)

4)

0¥ O
o=
> 004
O
O A O

Correct Answer:
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Candidate Answer:

ovo
O m O
D004

o B9 o
(PN

QID: 1049 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

gfe T YT BT MN T IR T ST Y &1 =it IR

STTPTIAT ¥ 3 -1 ITPIT T3 JATEHIcT T T
yfcrfeeg 82
N
F O
pd N
M
Options:
)
O N

A

2)

>

3)

. 4

4)

F
)
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Correct Answer:

OR
A

Candidate Answer:

OR
P AN

QID: 1050-

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-I are numbered from 0 to 4 and that of Matrix-1|
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'H' can be represented by
21, 43 etc and 'R’ can be represented by 96, 87 etc. Similarly, you have to
identify the set for the word 'POEM'.

T 915 el U AT-TE G ST T &, S 5 et ¥ 4 fdt o
v orarr & forepeail 3 R Ty - avarl & & it @R Efg g &, St
ferg g 2 eyl & &1 aneE-1 & T iR ufts St W 0 ¥ 4 31 s Hr 5
9 B1 37 TR U U S1ER D UEe! SUS! Ufeh Si1Y aTE F T Ty gy a9ir
T T 1 TEERT & 0 H @ 21, 43 Af GRT ST o Hesar & 9T R A
96, 87 3N G SuTar i Fawr £1 5 avE & sma@! wy ¥ Y wws POEM' &
ferq wHE @Y gEaT &)

Matrix | $FEE | Mateisi || HEg8
0 1 2 3 a_| 5 6 7 8 9
0 A A L A B _|[ 5 Q u ¥ N z
1 C A F B c || & N [ v Q z
2 1 H F B | p N a W a_|
3 F 1 A M T ) = X N R v v |
4 | B B H E | [ o X R v T 0|
Options:
1) 76,69,01,33
2) 56,88,23,41
3) 89,56,44,02
4) 75,68,44,33
Correct Answer: 75,68,44,33
Candidate Answer: 75,68,44,33

QID : 1051 - Depreciation of fixed assets is an example of

Tt aftaratal 1 JragTE SR o [

Options:

1) deferred revenue expenditure
i I =g

2) capital expenditure

o =g

3) capital gain
oifeer

4) revenue expenditure
T

Correct Answer: capital expenditure
oSl =g

Candidate Answer: [ NOT ANSWERED |
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QID : 1052 - Which one of the following is not a feature of monopolistic competition?

FefefEa # € Fi9-H g Ridvar gaier wgl &g &2

Options:
1) Large number of buyers and sellers in the market
2R | TRl 3R d=taret & agt g

2) Differentiated products constitute the market
ferdfeT 3aurel @ seR I &

3) Product in the market is homogeneous
IR # Iearg

4) Selling costs are used for sale promotion
e Hag o forg faehr | a1 vt févaT wran &

Correct Answer: Product in the market is homogeneous
AR § IaTg

Candidate Answer: [ NOT ANSWERED |

QID : 1053 - What is the maximum loan amount permissible under the MUDRA Yojana?

HET 1T & 3iid SfSehas ST o1 ST B &2

Options:

1) Rs. 50,000
50,000 353
2) Rs. 1lakh
1 SR T
3) Rs. 5 lakh
5 TG TR

4) Rs. 10 lakh
10 91 598

Correct Answer: Rs. 10 lakh
10 91 598

Candidate Answer: [ NOT ANSWERED ]

QID : 1054 - As per a latest classification of countries by the World Bank India now belongs to which of the following category?

fareyg der gr Ty g 2t & wreftaw avifaneor & SIgER R aanE # fhe Sioft | Hafia 27

Options:

1) Upper-lower income country
Iea-feT T AT &

2) Lower-middle income country
e ama aren du

3) Middle-middle income country
A | e T TR &1

4) Lower-upper income country
3= amg arem 3

Correct Answer: Lower-middle income country
- 3 aren 3y

Candidate Answer: [ NOT ANSWERED ]

QID : 1055 - As per census 2011, which state had the lowest sex ratio?

2011 &1 FOET & FER, e oo # feimgura wa @ er?

Options:

1) Punjab
REIC)

2) Haryana

3) Uttar Pradesh

TR TR

4) Bihar

Correct Answer: Haryana

g

Candidate Answer: [ NOT ANSWERED ]

QID : 1056 - Pluralist Theary of Sovereignty emphasizes the importance of which of the followings?

T & dgear g la # FEiofad # e o e Rar s g2
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Options:
1) Association
3ol

2) Monarch
AT

3) State

T

4) Government
HLEhR

Correct Answer: Association
g

Candidate Answer: [ NOT ANSWERED |

QID : 1057 - In which of the following countries the system of judicial review was originated?

Fr=fafaa # & e 2 & =nfies aeiter womedt @1 3z gam um?

Options:
1) France
Wi

2) Germany
ST

3) USA

quEy
4) Britain
e

Correct Answer: USA
quHy
Candidate Answer: [ NOT ANSWERED |

QID : 1058 - Under which article of the Indian Constitution is the District Planning Commission constituted?

VR Wi & o argeee & o o dtem afaf =1 7 gl 22

Options:
1) Article 243 ZD

ag=8% 243 ZD

2) Article 244 ZD

S 244 ZD

3) Article 242 ZD

e 242 ZD

4) Article 243 ZE

T 243 ZE

Correct Answer: Article 243 7D

e 243 ZD

Candidate Answer: [ NOT ANSWERED ]

QID : 1059 - Which kind of majority is required for constitutionzal amendment in forming a new state?

U 741 I 94§ Haenfes deie & fog e 9gua aifge?

Options:

1) Simple
HIYROT

2) Two-third

gHagrg
?@thrﬂﬂ—fnunh
& IUIES

4) Two-third plus ratification by half of all states
g-frers gg amd wrt e srgEEeE

Correct Answer: Simple

HIEROT

Candidate Answer: [ NOT ANSWERED ]

Page 21

QID : 1060 - Which officer of the Government of India has the right to take part in the proceedings of parliament of India even though he is not a member?

Hd TR hi-T1 ST Fae A Gl gu W IRdT 665 ol eridrel 7 W o a1 STTeenR TEar 7

Options:

1) Vice-President

39 e

2) Attorney General of India

W T ST wadel

3) Comptroller and Auditor General
frrisrer el HaTelEn wias

4) Election Commission

T STeh

Correct Answer: Attorney General of India
HTE T ST a-%et
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Candidate Answer: [ NOT ANSWERED |

QID: 1061 - The term 'Stupa' is associated with which of the following event of Gautam Buddha's life?

"EO e TIAH T o Aa i el (e HeAT § Hatid o7
Options:

1) Death

!

2) First Sermen

TH JULe

3) Birth

T

4) Renunciation
Te-@mt

Correct Answer: Death
-

Candidate Answer: First Sermon
Ty IUET

QID : 1062 - Who was the last ruler of the Gupta Dynasty?

T 397 o7 SHf TEe i ur?
Options:
1) Puru Gupta

LS
2) Vishnu Gupta

ey ey
3) Skanda Gupta

e TE
4) Kumar Gupta

PRI

Correct Answer: Vishnu Gupta

fermoy et

Candidate Answer: [ NOT ANSWERED ]

QID : 1063 - Where was Guru Govind Singh educated and learnt Persian?

T iR i Y e aet g ok T el wvet et o

Options:
1) Lahore

2) Amritsar

S

3) Patna

rsi

4) Anandpur Sahib

TR Tfed

Correct Answer: Anandpur Sahib
TR Tfed

Candidate Answer: [ NOT ANSWERED ]

QID : 1064 - Which of the following was the precursor of Indian National Congress?

FreafafEa # w9 v Te i 6 st e o2

Options:
1) Servents of Indian Society

Tae it 3F3a gamEd

2) Indian Association
aw)ﬁazr—v ez B el

3) Indian National Union
A2 g

4) Indian League
givgae o
Correct Answer:; Indian Association

3T UEigeE
Candidate Answer; [ NOT ANSWERED ]

QID : 1065 - During which governor general's time was the annexation of Sindh in British State done?

o e e & wwa | Ry o e s aog # B mar?
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Options:
1) Lord Dalhousie
AlE eI

2) Lord Chelmsford

Gl s

3) Lord Ellenborough

AlE gaaxt

4) Lord Hastings

GIEEEE

Correct Answer: Lord Ellenborough

A& gaAaxt

Candidate Answer: [ NOT ANSWERED ]

QID : 1066 - What is the second most abundant element on Earth's crust?

et &t Tas SO U () UR IUTiEY GO Had UeR a &l 87

Options:
1) Carbon
HTE

2) Silicon
fafemi=

3! Oxygen

4) Hydrogen

GESITE]

Correct Answer: Silicon
faferma

Candidate Answer: Hydrogen

QID : 1067 - What is called a shallow stretch of river that may be crossed on feet.?

TET o Uah 3l AR S e O it & uTe R i T, g7 SheendT 82

Options:
1) Ford
&

2) Atoll

Eir

3) Reef

Terd

4) Lagoon

Correct Answer: Ford
e

Candidate Answer: [ NOT ANSWERED |

QID : 1068 - Which among the following is a cold-dry wind?
frrfafaa & 4 ot ot ues &8t ofk e arg 27
Options:

1) Hurricane

2) Tornado

2ar

g;!ora

4) Cyclone

BIEESICH

Correct Answer: Bora

R

Candidate Answer: [ NOT ANSWERED |

QID : 1069 - The man-made reservoir Gobind Sagar located in Bilaspur is situated in which of the following states?

e s ama R s mide avR FefefEe § @ e s d Rm g

Options:

1) Uttarakhand
FRETS

2) Uttar Pradesh

TR RN

3) Punjab

UATe

4) Himachal Pradesh
feAraa ndw
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Correct Answer; Himachal Pradesh
e maa

Candidate Answer: [ NOT ANSWERED ]

QID : 1070 - Which among the following rivers does not flow from East to West?
FrafefeEa & 8 - =8 o § ufgm &t v =8 aadt 82
Options:

1) Narmada

THer

2) Tapti

et

3) Cauvery

EAC]

4) Mahi

gt

Correct Answer: Cauvery
T

Candidate Answer: Tapti
At

QID : 1071 - Which of the following historical monument has been chosen as a "Swachh Bharat Icon" by the Union Government on November 21, 2017.

21 TE9R, 2017 & F=fefEa d frg ofieis oiee & 99 TReR 3 " YR oMgd” & w9 § gafad

Options:

1) Haveli Dharampur
gt g

2) Charminar
TIRAAR

3) Amaravati

4) Vishwa Bharati
farsg et

Correct Answer; Charminar
TRUAR
Candidate Answer; [ NOT ANSWERED ]

QID : 1072 - As per a recent announcement, where will India's first Electronic Manufacturing Cluster (EMC) come up?

BT 21 # i 715 90T o SIJER W & WU Seiagi-eh A herariT dhoiied (SYHWI) chl TTUAT el chl Fgei?

Options:

1) Andhra Pradesh
T e

2) Maharashtra
HERTE

3) Rajasthan
BSESIE

4) West Bengal
qffyw se

Correct Answer: Andhra Pradesh
s Rerel)

Candidate Answer: [ NOT ANSWERED |

QID : 1073 - Which of the following is a multilevel global campaign to spread awareness about importance of girl's education?

et chi fET & Hew & IR | Il el o forg Rt A 8 ageady afde sifvas s 87

Options:

1) Girl Rising

Tl rgfeT

2) Most Important Part of Our Life: Girls
TR Sfte &1 et argH fen: anferst

3) Save Girls: Educate Girls
a1feres ==Td: arfere e

4) Education of Girls
arferaTar <t e

Correct Answer: Girl Rising
UG EIEE Ul

Candidate Answer: [ NOT ANSWERED ]

QID : 1074 - Which country will host the Summer Olympics 20207
ey ffwifies 2020 1 Aw"F F9 7 3 FEN?
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Options:
1) Qatar
Hat

2) Tokyo
aaat

3) Rome
s

4) Jakarta

ECanii

Correct Answer: Tokyo
et

Candidate Answer: [ NOT ANSWERED ]

QID : 1075 - Which of the following sportsperson is not correctly matched with their respective discipline?

FeffEa # & e el @ g 39a € € gRfoa el 87
Options:
1) Jitu Rai : Shooting
i 7 - e
‘? PV Sindhu : Badminton
. iy Fsfie
3) Sakshi Malik : Boxing
areft feres ; gt
4) Deepa Karmakar : Gymnastic
1T TR ;

Correct Answer: Sakshi Malik : Boxing
T1aft A : Sifedm

Candidate Answer: [ NOT ANSWERED |

QID : 1076 - "A Better India : A Better World” is written by ;

g ¥R e y AR aeE” & gr fert mE 1

Options:
1) Arun Jaitley
3T Aeelt

2) Aamer Hussein
R g&M
3) N. R. Narayan Murthy
T R, AR I
3[:_ Raja Mohan

L Xl

Correct Answer: N. R. Narayan Murthy
T, R, TR g

Candidate Answer: [ NOT ANSWERED ]

QID : 1077 - Which among the following has won the Mobel Prize for Chemistry in October 20172

Freferias & & foro srpar 2017 8 T 2R & o1y Aieiet URehR S 87
Options:

1) Jacques Dubochet

S

2) Joachim Frank

Srenf=m then

3) Richard Henderson

s

4) All options are correct.

Tt T Tt &1

Correct Answer: All options are correct.
Tt faeea T &)

Candidate Answer: [ NOT ANSWERED ]

Page 25

QID : 1078 - On birth anniversary of social reformer Basavana how many volumes of Vachana were released by Narendra Modi in April, 20177

STifeT 2017 #, T HIG! - A TR ATHAE1 S Shd) O a1 & eha- Heheur ar g 87

Options:
1) 21

2) 20
8)23

4) 25
Correct Answer: 23
Candidate Answer. [ NOT ANSWERED ]
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QID : 1079 - In May 2017, with which country India has signed an agreement on Maritime Security?

A5 2017 #, ¥Ra 7 ore %31 & |1y Tg] GRen & aAEid W GeIae Ry 67
Options:

1) Sri Lanka

sfteiam

2) Bangladesh
CLEICE
3) Mauritius

AT
Qthina

Correct Answer: Mauritius
AR

Candidate Answer: [ NOT ANSWERED ]

QID : 1080 - Which neighbouring country of India measures prosperity by gauging its citizens’ happiness level?

{TEd 2hT hi- AT TSTHT 31 T i 370 ARTINER 2h T 2 T ZIRT AT 67

Options:
1) Pakistan
BUEaSI

2) Nepal
ELIGH
3) Sri Lanka

4) Bhutan

e

Correct Answer: Bhutan

TR

Candidate Answer: [ NOT ANSWERED ]

QID : 1081 - In which communication mode, data can be transmitted in both directions at same time?

o TR & U | STeT ol TER0T U wHg # el st g gtar &2

Options:
1) Simplex
R

2) Full duplex

3) Half duplex

o sy

4) Multiplex

Aeditetes

Correct Answer: Full duplex

Candidate Answer: [ NOT ANSWERED ]

QID : 1082 - The computer program that converts assembly language to machine language is called

A I a8 WIITH S SFEeet! HIST ahi AT HIST & w=0idid &l &, hgaral &
Options:

1) Complier

ot

2) Interpreter

WX

3) Assembler

e

4) Comparator

e

Correct Answer: Assembler

IR

Candidate Answer: [ NOT ANSWERED ]

QID : 1083 - Which is a base meial of amalgam alloy?

STV RS &1 ST €T i o A7
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Options:
1) Aluminium

2) Mercury
Ry

3) Copper
aran

4) Zinc
SES1

Correct Answer: Mercury
e

Candidate Answer: [ NOT ANSWERED |

QID : 1084 - Which of the following is the structure of graphite?

Fafafea # 9 o= ot dwe &t 5w 82
Options:
1) Rigid three-dimensional

gz Bramamdt

2) Hexagonal
L capic

3) like Football
g I
4) No option is correct.

T Tg T8 81
Correct Answer: Hexagonal

Candidate Answer: Hexagonal

QID : 1085 - A wooden spoon is dipped in a cup of ice cream. Its other end will .

TG eh! Uk THAT ohl HATSEEhIN & WTe H GalTdT 7T & | ST GERT FemT I
Options:

1) become cold by the process of conduction
T Wigha & g1 &&T & ST

2) become cold by the process of convection
Tag- uithar & g1 ST g S

3) become cold by the process of radiation
e ufghar gy a1 8t S

4) not become cold

it

Correct Answer: not become cold

SR

Candidate Answer: not become cold

CEEE

QID : 1086 - Which acid is the most abundant acid found in grapes?

SR A TS U AT H i 9 37 ORI AT 67
Options:
1) Oxalic acid

i

2) Ascorbic acid
Uhlfaes 3T

3) Tartaric acid
eTeReE 3

4) Formic acid
3T

Correct Answer: Tartaric acid
TERe 3

Candidate Answer: Tartaric acid
TER 3

QID : 1087 - The splitting of white light into its component colours is called :

= FenIRT T 3Fh Hade ! aul o [Hre wgTal 21
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Options:
1) diffraction
feada

2) refraction

3) dispersion
fagmur

4) scattering
Trehrof

Correct Answer: dispersion

fargaor
Candidate Answer: dispersion
Egor

QID : 1088 - Which of the following statements are CORRECT?

I. Change in magnetic field produces induced current.
Il. Flow of current in a conductor produces magnetic field.
11l. Magnetic field related to coil can be produced by motion between conductor and coil.

FefEa # € a8 w2 agl 82

. g & § ufvae & e oy 3o gl 2
1. ITeten A HETiRd U S@ehid 85 Io0= e Bl
Il ZHUSe & Helltrq Gaehid &, TTeTeh T4 HUSeH & Hed SATUTE el o <0 g TehdT 8l

Options:
1) Only land 1|
haet | Fn il

2) Only 1 and 1l
haet | gl

3) Only lland 1l
ae Il Fgr il

4) All statements are correct.

Tt e mEt €1

Correct Answer: All statements are correct.
Tt wu= Tt §1

Candidate Answer: [ NOT ANSWERED |
QID : 1089 - Which gas is used as a fuel in a rocket?

iahe A Su- & 0 # @i O 7% o JuahT f2har sirar 82

Options:
1) Radon
&

2) Hydrogen
3) Chlorine
AR

4) Nitrogen
Correct Answer: Hydrogen

Candidate Answer: Hydrogen

QID : 1090 - Which of the following is good insulator?

Freafefaa # 8 ga afean gares &l @187

Options:
1) Mercury
aRT

2) Cadmium
hefiaa
3) Germanium

4) Glass
Cak|

Correct Answer: Glass
hid

Candidate Answer: Glass
hid

QID : 1091 - Which is the most abundant Vitamin found in carrot?

TR # T&E U A | @i 91 fert@= omn s 8?2
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Options:
1) Vitamin A
et A
2) Vitamin B
fEafia B
3) Vitamin C
fFafim e
4) Vitamin D
fFafia D

Correct Answer: Vitamin A
= A

Candidate Answer: Vitamin A
A

QID : 1092 - How the rate of absorption of water through roots can be increased?

TSl & arer § Wil & araeiuer Y g2 3 Sert o Ol 27

Options:

1) Keeping the plants in the shade
e &t e # waae

2) Keeping the plants in the dim light
ol &l Hg WahTeT H TR

3) Keeping the plants under the fan
e vt Ord & i e

ﬂ%&:overing the plants with a polythene bag
&l diferffT & garae

Correct Answer: Keeping the plants under the fan
et vt O=d & i e

Candidate Answer: Keeping the plants in the dim light
ot &l #g wepTRr H TEae

QID: 1093 - A spore producing plant is ;

HTATY] Ie A AT R UTey Sig 2l

Options:
1) rose

el
2) bread mould
SaEIC Y B

R )
3) potato

STel,
4) ginger
eI

Correct Answer: bread mould
AR H Bhg

Candidate Answer: [ NOT ANSWERED |
QID : 1094 - Which chromosome is responsible for manliness in man?

o H Uoued & oy @i |1 Uit sate gaverl 87

Options:
1) X0

2) YO
3) XX

4 Xy
Correct Answer: XY
Candidate Answer: XX

QID : 1095 - The human eye forms the image of an object at its :

AFE A O foRefl avg @ gl aed &)

Options:
1) cornea

2! iris

3) pupil
et

4! retina

Correci Answer: retina
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Candidate Answer: retina

QID : 1096 - Which of the following is NOT a multicellular organism?

Freafefaa # 8 o o1 v ag-atfaha oia a8t 87
Options:

1) Fungi

Hah

2) Spirogyra

TS

3) Hydra
GEED

4) Paramecium
£l

Correct Answer; Paramecium
g

Candidate Answer: Paramecium
£

QID : 1097 - Which disease is caused by cadmium metal pollution?

et org & wewor @ &4 T A g 22

Options:
1) Minamata

2) Itai-Itai
FeTS-5eTS

3) Asthma
ST

4) Dermatitis
sHergllm

Correct Answer: ltai-ltai
ECAE]
Candidate Answer: [ NOT ANSWERED ]

QID : 1098 - Which of the following is an organic gas?

FefafEa # € &9 =t 9ifds W 8?7

Options:

1) Carbon dioxide
e SEHTEES

2) Carbon monoxide

A AAAITERE
3) Ethylene dichloride
ETEENIES

4) Nitrogen dioxide
SERiESIES
Correct Answer: Ethylene dichloride
TSNS

Candidate Answer: [ NOT ANSWERED |

QID : 1099 - Basel Protocol is related to which of the following?

S Wielenier MTeirad A § e Tafed 62

Options:
1) Ozone layer
o

2) Burning of forests

g1 @l ST

3) Sea water pollution
FEL T T ST

4) Trans-boundary hazardous dumping
TR ST U1 & FHTOR a0

Correct Answer: Trans-boundary hazardous dumping
WA e verell & A e

Candidate Answer: [ NOT ANSWERED |

QID : 1100 - Which of the following is parasitic food chain?
Frefeis o 4 @ uisii @ sae 82
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Options:

1) Trees — Fruits eating birds — Lice and bugs

& — el @ aTel U8 — S a1 shie

2) Grass — Rabbit — Fox . Tiger

U - @y - Aee - e

3) Grass — Grasshopper — Frog — Snake — Hawk
o - Ry - Aew - W - A

4) Phytoplankton — Zooplankton — Fish — Hawk
UTed WAk — Wl waes - "ol - @t

Correct Answer: Trees — Fruits eating birds — Lice and bugs
&1 — el @M ATt uaft - o qur g

Candidate Answer: Grass — Grasshopper - Frog — Snake — Hawk
g - fegr — Agw - 919 . and

QID : 1101 - The number of joints (j) which constitutes a kinematic chain can be expressed in terms of number of links (I) as

ST i e () S U G i o o TS Sl g, 39 foiehl 1 gvem () FEu A % %8 o=k Y S gt & |

Options:
1

3
3,22

=g

4)

j s

Wl

Correct Answer:

3
312
=3

Candidate Answer:
3

=—/-2
2
QID : 1102 - Which of the following will lead to the formation of higher pair?

e # & & a1 Fier 399 918 & e & forg Agea e

Options:
1) Sliding pair
it Ater

2) Turning pair
ECREEIS
3) Rolling pair

SISt
4) None of these

EEAEE G

Correct Answer: Rolling pair
iefe Ter

Candidate Answer: Rolling pair
SIEECHYIE|
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QID:1103-
What is the degree of freedom of the mechanism shown below?

A A RER v da i F@rdaa Hife #=r g2

Options:
01

2)2
3)3

4)4
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

QID : 1104 - Which of the following statement is TRUE regarding work done per cycle?

Frefeas wya & © & @ ol 99 § fora man & & e adt 87

Options:

1) Work done per cycle is directly proportional to the mean torque

Tiek e H T man e Areg geTel & Y

2) Work done per cycle is directly proportional to the angle turned in one revolution

Uieh ek H feha T el Ok TR H a4 01 S TN e §

3) Work done per cycle is inversely proportional to the angle turned in one revolution

Uik e H fe a1 e Ueh 99 H 9 i & oA

4) Both Work done per cycle is directly proportional to the mean torgue and Work done per cycle is directly proportional to the angle turned in one revolution

Correct Answer: Both Work done per cycle is directly proporticnal to the mean torque and Work done per cycle is directly proportional to the angle turned in one
revolution

Candidate Answer: [ NOT ANSWERED |

QID : 1105 - The angular acceleration and the moment of inertia of the flywheel is 0.6 rad/s2 and 2500.kg.m?2 respectively. What is the kinetic energy (in kN-m) of the
flywheel after 10 seconds from the start?

TfeITeTE T & Ui =RoT SR SrEwrgyf sl 0.6 rad/s? 3R 2500 kg-m? & | AR T 10 68 & aTC NfauTerss Te S it S it ?

Options:

1) 45

2) 450

3)4.5

4) 4500

Correct Answer: 45

Candidate Answer: [ NOT ANSWERED ]

QID : 1106 - The power transmission takes place from a pulley of diameter 1 m running at the speed of 250 rpm to a pulley of 2.50 m diameter by means of a belt.
Determine the speed (in rpm) of the driven puiley?

a1feh FeRor 250 aRdieR i 0 G e aret G & 2.50 Hiex s & o & 3w dee & mam @ gt s | dafer et i afa (rpm #) Faffa w2

Options:
1) 110

2) 150
3) 100

4) 625
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED |

QID : 1107 - The scotch yoke mechanism is the inversion of

W dEa I § |
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Options:

1) four bar link chain

IR AR fFew 99

2) double slider crank chain

T TSE e AT

3) single slider crank chain

Uehel TGS dheh o=

4) None of these

T T o

Correct Answer: double slider crank chain
T TGS ek I

Candidate Answer: double slider crank chain
S T ek

QID : 1108 - Which of the following is NOT the inversion of single slider crank chain?

Frafaf@m & @ o9 o1 vae TER & 3 & oo T 27

Options:

1) Pendulum pump

dgem ug

2) Whitworth quick return motion mechanism
fegeae afa argft nfa o=

3) Oscillating cylinder engine

giees faferex o

4) Elliptical trammel
%aﬂﬂ

Correct Answer: Elliptical trammel

Candidate Answer: Elliptical trammel
st gna

QID : 1109 - Which of the following theory is used in the design of clutches, when the friction linings get worn out?

frafafaT gt & @ =9 - my & e § Sumi fm o &, =19 gy orR A o 2 2

Options:

1) Uniform pressure theory
THFY oo

2) Uniform wear theory
HHET

3) Uniform friction theory
FAEY TH fEgh

4) None of these

T S HE T

Correct Answer: Uniform wear theory
Ty e g

Candidate Answer: [ NOT ANSWERED |

QID : 1110 - The equation for the calculation of torque transmitting capacity in the conical clutch as per uniform wear theory is

grwy o fgid & FTER AaaTnR T § e SER Sl il e & forg weieor ar 87

Options:

1)

M,-_*P (p.d)
4sina .

2)

M, =P _(D-d)
4sina

3)

M, -+ (D-a)
sina y

4)

M,=2_’”—P|'D—d_r
sina ;

Correct Answer:

M,- 22 (D+d)
4sina y

Candidate Answer: [ NOT ANSWERED |
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QID: 1111 - Which of the following staterment is TRUE about the length of arc of contact?

Petfrd e s o oad s g daR A g 8?7

Options:

1) Inversely proportional to the module

Alegd & fauda &9

2) Varies directly to the length of the path of contact
e & T A ey & g il

3) Inversely proportional to the circular pitch

i o o g

4) All option are correct

gt H

Correct Answer: Varies directly to the length of the path of contact
G o T Y orvaTs o forg ot st &

Candidate Answer: [ NOT ANSWERED ]

Page 34

QID : 1112 - The profile of gears having module of 12 mm and length of arc of contact is 60 mm. What is the contact ratio of the gear profile?

R HiohrEet @l Aiee 12mm 3R w3aeh & =g i @vars 60mm &, R Tihiget a1 wwaeh srguTd & gim?

Options:

12

2)1.2

3)1.6

4)5

Correct Answer: 1.6
Candidate Answer: 5

QID : 1113 - Which of the following is NOT the type of loaded type governor?

71 ® @ 9 T1 ST 25y AR o UK A8l £7

Options:
1) Dead weight governor

3 de TR

2) Spring controlled governor
B URE LIE GRIGETS

3) Watt governor
e MR

ﬂ-%zorter governor
A

Correct Answer: Watt governor
e MR

Candidate Answer: Watt governor
g1

QID : 1114 - The types of failure involved in the analysis of the riveted joints are?

(1) Shear failure of rivet
(2) Tensile failure of the plate
(3) Crushing failure of the plate

Which of the following statements are is correct for the analysis of the riveted joints?

e Sl & e & anfier st & IR &

(1) e Ft srogoT fEREaT
(2) wic & a-aar &1 fawerar
(3) =T & Heer i faherar

Freafeias wya & § o @ wum Sida sits! & o & o a8 g7
Options:

1) (1) and (2) only

hae (1) 3R (2)

2) (2) and (3) only

hae (2) 3R (3)

3) (1) (2) and (3)

(1) (2) 3= (3)

4) (1) and (3) only

hae (1) 3R (3)

Correct Answer: (1) (2) and (3)
(1) (2) 3= (3)

Candidate Answer: (1) and (3) only
ahae (1) 312 (3)

QID: 1115 - Which of the following options is correct about the motion of the follower?

Pt et A & wietas 6t 7fa & ar A @91 e 82
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Options:
1) Uniform velocity
TEEY AT

2) Simple harmonic motion
T e Tife

3) Uniform acceleration
HHEY w0
4) All option are correct

Toft e o §

Correct Answer: All option are correct

T3t feea agt 8

Candidate Answer: All option are correct
goft e o8t §

QID : 1116 - When a body is said to be in dynamic equilibrium?

T ! T Tk TG § el Sl 82

Options:

1) When the body is moving with non uniform accelerations.
T4 a%g T HAEY Xl & |1 9 Il |

2) When the body is in uniform motion along a circular path.
T4 a%g Ueh UNUS U O TAM i # af @Il |

3) When the body is in uniform motion along a straight line.
T4 a%g Uen Hte 3T O Ueh gHE Il A A S| Tl |

4) When the body is moving with instantaneous velocity.
T4 a%g Alchiereh a7 o T14 I¢ e 8 |

Correct Answer: When the body is in uniform motion along a straight line.
o4 a%g Uen Htel 3T O Ueh gHE Al § o S el |

Candidate Answer: [ NOT ANSWERED |

QID : 1117 - Which of the following term can also be used to state the dynamic equilibrium?

fFeafafaa 7 & ot o e nfae arg & o s féhar 57 gemar &7

Options:

1) Translatory equilibrium

SFIETGE W

2) Static equilibrium

fer T

3) Kinetic equilibrium
|

4) Rotational equilibrium

quiF Ty

Correct Answer: Kinetic equilibrium
|

Candidate Answer: Kinetic equilibrium
|

QID : 1118 - What is the direction of application of friction force with respect to the direction of motion of an object?

Tifer ehr e & derert & endur @e o ammee it Rsm e 22

Options:

1) Same

T Sl

2) Perpendicular
wEad

3) Opposite

famda

%Downward

Correct Answer: Opposite
e

Candidate Answer: Opposite
BRG]

QID: 1119 - What is the S | unit of Poisson's ratio?

Mg & IO A 5. g #r 8?7
Options:

1) kN/mm?

2) N/mm?

3) mm

4) Unitless

Correct Answer: Unitless
Candidate Answer: Unitless
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QID : 1120 - Maximum principal stress theory was postulated by

Tl U faae Rgia fradh R uiee foman mm 17

Options:
1) ST Venant
waETT

r2£?I\;I()hr
%%gankine

4) Tresca

Correct Answer: Rankine
EiG

Candidate Answer: Rankine
EiC

QID : 1121 - The equivalent length of the column, when both the ends are hinged is

T el wETd & v gl R eeder sld £
Options:

0l

2) /2

3) 174

421

Correct Answer: |

Candidate Answer: 2|

QID : 1122 - The expression for the slenderness Ratio ratio of the columns is given as

W & Wewd AU & o wHtERT Fwgd &t g

Options:
1)

-

(21 )
Koo/

Correct Answer:
(1,

\Koin )

Candidate Answer: [ NOT ANSWERED ]

QID : 1123 - The expression for the Rankine's crippling ioad is given as,

Ierm faraftei R & forg aeftamor _ e dEmi i

www.ErForum.Net

Page 36

www.ErForum.Net



www.ErForum.Net www.ErForum.Net Page 37

Options:
]

p_ %A

:, ’! \ 2
1—KLF

)
J

Candidate Answer: [ NOT ANSWERED |

QID : 1124 - What is the ratio of the Euler's buckling loads of column having (i) both ends fixed and (i) one end fixed and other end free is?

YR SATHTT TR T ST T g1 3R T (i) ST i & 2ot offR (ii) e of & Tt ofiR o oz 87
Options:

1) 401

2)16:1

3)1:4

4) 2:1

Correct Answer: 16:1

Candidate Answer: [ NOT ANSWERED ]

QID : 1125 - The thin walled cylindrical vessel has the wall thickness t and diameter d is subjected to the gauge pressure of p. If the diameter of the vessel is doubled,
then what is the ratio of hoop stress as compared to initial value?

Ul fEaReR SeTeR i & Siam <6 wiers t ofR sy d A7 gare p & e g | af e ot S & § o oRfEE are i g  aftef oferse s T = g

Options:

1) 11

2) 2:1

3)1:2

414

Correct Answer: 1.2

Candidate Answer: [ NOT ANSWERED |

QID : 1126 - A metal pipe is subjected to internal pressure of 10 kgf/cm?Z. If the permissible tensile stress in the metal is 200 kgffcm? and the thickness of the pipe is
2.5 cm. What is the diameter of the metal pipa?

TR T & UTEY Y 10kgf/cm? & orfafies gana & i oo ST 1 onR eng § i IR a1 200kgf/em? & 9fR uigy i HierE 2.5cm & & g 3 U1y T 2 o ghm?

Options:
1)10

2) 100
3) 200

4)20
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

QID: 1127 - A power transmission shaft of diameter d rotating at the speed of N rpm. The power P is related to diameter d and N as,
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Options:
]

P (Nd?)
2)

P (NG 2

3)
P o (NG F:
4)
P (Nd® ]1
Correct Answer:
P o (Nd?)
Candidate Answer: [ NOT ANSWERED ]

QID : 1128 - Which is the correct option for the stress experienced by the shaft when the power transmission in shaft takes place through the gears?

19 ame § ek TR iR & Arerd @ gl & | anve g erydt ufee o forg ot e R 82

Options:

1) Varying bending and constant torsional stresses
2) Constant bending and varying torsional stresses
el erra T Tl aedl Hie

3) Torsional stress.

4) éending stress only
T wfreer Rk

Correct Answer; Varying bending and constant torsional stresses

Candidate Answer: [ NOT ANSWERED ]

QID : 1129 - A beam of diameter 75 mm has a span length of 10 m is subjected tc uniform distributed load of w kN/m. The maximum value of bending stress
produced is 6.75 kN-m. What is the value of distributed load, if the beam is simply suppoited?

75mm 278 &t ua @ St fBea darg 10 m & aeEr € o w kN/m & s Ffda wr & e & | 9 wices @ sifeas 719 6.75 kN-m & | of¢ dim ag amfda & at
fErafta wr &1 A =41 gim?

Options:
1) 1.5

2) 0.54
3)2

4)54
Correct Answer: 0.54
Candidate Answer: [ NOT ANSWERED |

QID : 1130 - A steel bar of dimension 10 mm x 1 mm x 1 mm is free to expand is heated from 15 °C to 25 °C What stress shall be developed?

10mmx Tmmx Tmm 3ITaTH &l e Wid aR fd & & (@0 @a7 & 339 15°C 9§ 259C g6 7 favar wrga at et o nider e v smgm?

Options:
1) Tensile stress
a=ar

2) No stress

o1 vifdaret 6T &

3) Shear stress
Y gferee

4) Compressive stress

Correct Answer: No siress

o1 vifderet =gl &

Candidate Answer: No stress
ol 8

QID : 1131 - For a pure substance in gaseous phase to be liquefied, the gas has to undergo initial cooling below the

I Gard & i T € aee uerd #,7 @t g =t U sffaer= 9§ qaen gear 21
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Options:

1) critical state

hifeich aTaee

2) saturated liquid line

T e

3) saturated vapor line

Hetd qreq

4) triple point line

[ECACEET e

Correct Answer: critical state

ehifces Jraar
Candidate Answer: [ NOT ANSWERED ]

QID: 1132 - What is the CORRECT order of decrease in entropy?

(a) solid phase
(b) Liquid phase
(c) Gaseous phase

ezt & et e Tl o R a7

(a) ST ara=am
(b) == srEzan
(c) it srazer
Options:

1) (a) > (b) >(c)
2) (c) > (b) > (a)
3) (c) > (a) > (b)
4) (a) > (c) > (b)

Correct Answer: (c) > (b) > (a)
Candidate Answer: [ NOT ANSWERED ]

QID : 1133 - The entropy always increases for an isolated system and when the equilibrium is reached, it is

T fagen i & Torg ottt # g gt & ofe st Siger der uga o at el g 2
Options:
1) maximum

2) same as the initial starting state
R dEw & gHE

3) more than initial starting state
TR Sferet 3 i
4) zero

i

Correct Answer: maximum

Candidate Answer: zero
=

QID : 1134 - A Carnot engine operates between Tq and T». If there is an increase in source temperature by t and a decrease in sink temperature by t. How is the
efficiency in both cases is related?
TR @Te $59 T1 ofR T2 & o9 = 81 8] 9 =i a7 + 1 9 g @ ofi fies aromm & ¢ 6 ot @t &) ot 1 & vl o e &2 Gafia &7
Options:
1)
?," > ’?2
2)
<1,
3)
n= fh
4) None of these
F e e

Correct Answer:
’?\ < ’?2
Candidate Answer: [ NOT ANSWERED |

QID : 1135 - In a surrounding, the amount of irreversibility of a process undergone by a system is determined by

ufeas 8 el Fama g &1 i ofte 6 smfad g & amn R Faifea §r ot &1
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Options:

1) entropy change of the system
e & gt § oftae

2) entropy change of the surrounding

nfaaw & weidt & afiad=

3) entropy increase of the universe
SIETUS ohi gegidt &

4) entropy decrease of the universe
FENUS o1 weadt F ot

Correct Answer: entropy increase of the universe
NS h ggid A i

Candidate Answer: [ NOT ANSWERED ]

QID:1136-
In an Otto cycle, r is the compression ratio and 7
is the adiabatic index. Which relation defines
the air standard efficiency?

U HE g% F rH9SA A & 3R 7 wErw gae f
Hi G GFFE §aT AlF EaTdT S IRe™a Far 82

Options:
0]
1
n=1-—
r
2
n=1= :

3)

r}=1—_1_._

¥=1

=
Candidate Answer:

n=1-

r

Page 40

QID : 1137 - For the same operating maximum pressure and temperatuie, which cycle will have the highest efficiency?

IO TaTe ST ga o a99H & fore &= @1 9% =99 g8t are g

Options:

1) Diesel cycle
Il T

2) Dual cycle
ST =5h

ggrgtto cycle
o>h

4) None of these
1§ i TR

Correct Answer: Diesel cycle
I TR

Candidate Answer: Diesel cycle
Bt T

QID : 1138 - The mean effective pressure of Otto cycle is given by

312} TR & W T g R f&mr I 81
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Options:
)]

p..r,r|rp-1]|rf"-1:i
R P TP
2)

pzr,,[rp—1_][r_,(‘“'—1j|
" N
3)

i (r, +1) (K7 -1)
L P ()
4)

P (r,=1)(r7" +1)
S P2 ) T )
Correct Answer:

" P (r, = 1)(rT" 1)
= (r=1)(n-1)

Candidate Answer: [ NOT ANSWERED ]

QID: 1139 - What is the state at which phase change occurs without a change in pressure and temperature is known as?

areeer o @ g ofiz agwm uRad= & =or uftad= gian &, & fag Frefefea 4 @ w9 o Reen wét 82

Options:
1) Critical state
ehifdes S

2) Saturation state
HeJ ol HGET

3) Equillibrium state
RGERCES)

4) None of these
9 & g A6l

Correct Answer: Critical state

HaEn

Candidate Answer: Critical state
THifae e

QID : 1140 - What value of the dryness fraction (in %) represents the dry saturated state of vapour?

IR 39T T T Hed (% ) ared oht gt Sqtd STawer o wiaiHfee s 7
Options:

10

2) 25

3) 50

4) 100
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

QID : 1141 - Which factor contributes to the afficiency of the Otto cycle?

T O FRE ! Tek 6T 8= § ghrer S

Options:
1) Compression ratio

ST

2) Operating pressure
TRETe eard

3) Operating temperature
qRETe amHE

4) None of these
T R HE T

Correct Answer: Compression ratio
HteT argura
Candidate Answer: Compression ratio

e AT

QID : 1142 - If a Carnot refrigerator has a COP of 6. What is the ratio of the lower to the higher absolute temperature?

3R e dhi-ie Ui @ COP 6 giar &, ot et # & 3= uew a1d &t SuTd & gh?
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Options:
1) 1-6

2)7-8
3)67

4)1-7
Correct Answer: 6-7
Candidate Answer: [ NOT ANSWERED |

QID : 1143 - Which of the below stated are properties of a PMM-2?

(1) When net work is equal to the heat absorbed and work efficiency is 100%.
(2) Heat is exchanged from one heat reservoir only.

(3) It violates Kelvin-Planck statement.

(4) 1t is a hypothetical machine.

Frefeas 8 § PMM-2 & 1o &9 4§ 87

(1) S et S IeHT @A o TR & SR e Zerar 100% &)
(2) ST el Uk SO 3§ HMEH-HeH Sl S & |
(3) T Shiea- Wi Y ol JeeieA ¢ |

(4) 7 t& FeaHwE A E |

Options:

1) (1), (2) and {4)

(1), (2) 3= (4)

2) (1),(3) and (4)

(1), (3) 3= (4)

3) (2), (3) and (4)

(2), (3) 3R (4)

4) (1), (2). (3) and (4)

(1), (2), (3)3R (#)

Correct Answer: (1), (2), (3) and (4)

(1), (2), (38R (#)

Candidate Answer: (1), (3) and (4)

(1), (3) iR (4)

QID : 1144 - Tonnes of refrigeration mean

u=fte & & 1 aaee gl
Options:

1) the weight of the machine is one tonne.
i@ asTEm g |

2) the weight of the refrigerant is one tonne.
uifiaes T aeH U T 2 |

3) the rate of the heat extraction is one tone.
I At R gr g e §

4) None of these

T 4 T

Correct Answer: the rate of the heat extraction is one tone.
o1 g R gr U e 8 |

Candidate Answer: the rate of the heat extraction is one tone.
I et g U e E |

QID : 1145 - What is the ratio W/Q (W= work transfer from cycle, Q = heat transfer to the cycle) known as?

W/Q (w=a¢h & SR LTHIaR0T,Q=T H T7 TTIa0T) & AT o &9 & ST 577 87

Options:

1) Air standard efficiency
el HIFeh g8l

2) Specific consumption
R gua

3) Specific work transfer
TYHIAL0T

4) Work ratio

EALRCE I

Correct Answer: Air standard efficiency
EaT HIFeh GETel

Candidate Answer: Air standard efficiency
BT O 2ETT

QID : 1146 - What processes does Carnot cycle consist of?

TR Teh A 1= T HiehaT el 27
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Options:
1) Two isothermal and two adiabatic processes
gt wardt ofiz &t gt nfehamg
2) Two isothermal and two constant volume processes
& Tt 37 gt Taa e uihang
3) Two isothermal and two constant pressure processes
3R & gad gaa
4) Two constant pressure and two constant volume processes.
3l o 99 AR & T e uf
Correct Answer: Two isothermal and two adiabatic processes

< et 9fk @t et haTg

Candidate Answer; Two isothermal and two adiabatic processes

QID : 1147 - What is the temperature at which a system goes under a reversible isothermal process without heat transfer?

FEHT TR & o Ue ferm wfcedt auard witn § o ammm o gkt 22

Options:

1) Absolute zero temperature

%A YT aT9HH

2) Critical temperature
GG

3) Reversible temperature
HferEdt argarE

4) Boiling temperature

YIS a1

Correct Answer: Absolute zero temperature
UZH -0 dT9HH

Candidate Answer: [ NOT ANSWERED ]

QID : 1148 - How is the thermal efficiency of an I.C engine related to compression ratio?

T |.C & & IeHT getar Sdied ourd 9 fée nar gafte 22

Options:
1) Increase
Ero

2}- Decrease
=T

3) May increase or decrease
&g Tehd & 41 9C Tl &

4) Remains same

A 1§

Correct Answer: Increase
AT

Candidate Answer: Decrease
T T

QID : 1149 - All the processes in an air standard cycle are assumed to be

ek EATS AFe weh H Tt ufeharai st HTAT ST 8]
Options:
1) adiabatic

2) irreversible

3) isothermal

4% reversible

Correct Answer: reversible
IECGl

Candidate Answer: irreversible

QID : 1150 - Water flows through a turbine in which due to friction there is a temperature rise from 30°C to 35°C. If there is no heat transfer taking place during the
process. What is the change in the entropy of water?

I XaTE € sgal ¢ [oreA H8T & SR argHE 30°C § 35°C aa 96 ol & | X HiehaT & G0 g KT S0 61 6l T6T 8, a1 U1 o Geidl H aee a1 g ?

Options:
1) 0.077
2) 0.079
3) 0.406
4)0.496
Correct Answer: 0.079

Candidate Answer: [ NOT ANSWERED |
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QID : 1151 - In 18-4-11 HSS (high speed steel) the percentage of chromium is

18-4-11 HSS (cfter et gmer) # ehtfiras a1 ufowa &
Options:

1%

2) 4%

3) 18%

4) 20%

Correct Answer: 4%

Candidate Answer: 18%

QID : 1152 - The pH value of neutral solution is

I A FTpH 9

Options:

1) Equal to 7

7 & SRTER

2) Less than 7

7 wH

3) Greater than 7
7 & arfdem

4) None of these
T A HE

Correct Answer: Equal to 7
7 & auE

Candidate Answer: Equal to 7
7 & SR

QID:1153-

Bl St ot o g e alids & argehel &
Options:

1) Phosphor Bronze

TRIER Sl

is better suited for lighter duty bearings.

2) Plastic-s
e Frt)

3) White metal
g 9Tg

4) Monel metal
GIEE R
Correct Answer: Phosphor Bronze

Candidate Answer: White metal

e o1y

QID:1154- is not the neutral refractory material.
Jeri géw vard 75 &1

Options:

1) Graphite

fhige

2) Karnelite

3! Chromite

4) Dolomite

Correct Answer: Karnelite

FHARE

Candidate Answer: [ NOT ANSWERED |

QID:1155-____ structure has maximum hardness.

g1 A arftreran saiear alat 21

Options:
1) Troostile

2) Pearlite
frarese
3) Martensits

4‘; Sorbite
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Correct Answer: Troostile

Candidate Answer: [ NOT ANSWERED ]

QID:1156- has least coefficient of expansion

1 e Tories gaA glaT &

Options:
1) Manganin
B=EE

2) Invar
R
3lConstantan

4) Duralumin

Correct Answer: Invar
ECE

Candidate Answer: Invar
EGT
QID: 1157 -

FER $1 g3 ¥ F Srarf wgor 21

Options:
1) Carbon
HIE

is the essential gradient of any hardened steel.

2) Pearlite
foraremge

3) Austenite
3T

4) Martensite
Correct Answer: Carbon
CocE]

Candidate Answer: Martensite

QID:1158- structure can be studied by naked eye.

&1 TeF A S § oreo Y o Tehel 8
Options:
1) Atomic
AT
2) Grain
=
3) Micro
AIgeRt
4) Macro
Azpt
Correct Answer: Grain
biE]

Candidate Answer: Macro
ATRT

QID:1159-

ferafé ATER o IUERT A I B
Options:

%ass

2) Bronze

is used for bearing liner.

3) éun metal

T 91

4) Babbitt metal

dfele urg

Correct Answer: Babbitt metal
afde urg

Candidate Answer: Babbitt metal
e arg

QD : 1160
__ oo Apadul a8 Sl SEaTd & Hifdd 07 i i st g

www.ErForum.Net
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Options:
1) Carbon
HIE

2) Chromium
3) Vanadium
EEIELL

4) Tungsten
LR

Correct Answer: Carbon

Candidate Answer: Carbon

QID : 1161 - Practical fluids

eeifie ave ugref

Options:
1) are viscous
EGIEG ||

2) possess surface tension
qEaE G g Bl &
3) are compressible
Tdifed gt ¥ehd &
4) possess all the above properties
Th B &
Correct Answer: possess all the above properties
U A O geh B 8
Candidate Answer: possess all the above properties

Foe it ot g Bid &

QID : 1162 - Property of a fluid by which its own molecules are attracted is called

TR TaTY 1 g T[0T FSrE 9 ST Y] ATEH E1 & FEenl &
Options:

1) adhesion

T

2) cohesion

s
3) viscosity
EUIEG ||
4) compressibility
gteT

Correct Answer: cohesion
-

Candidate Answer: cohesion
T

QID : 1163 - For very great pressures, viscosity of most gases and liguids

HEd ATUE GaTd R, STfeeha 119 3fX g2 i T

Options:

1) remains same
HOTT gl &

2) increases

3) decreases

o g AT &

4) shows erratic behavior
sifatia =ragr Reardt &
Correct Answer: increases
g e erd g

Candidate Answer: increases

g g e &

QID : 1164 - The bulk modulus of elasticity

TR 0T
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Options:

1) has the dimensions of 1/ pressure
/388 & HEH §

2) increases with pressure

gaTd & a1 i giet &

3) is large when fluid is more compressible
ST gtaT & o1 g i

4) is independent of pressure and viscosity
TEE SR AFA S WA g 8

Correct Answer: increases with pressure

gaTd & a1 i giet &

Candidate Answer: increases with pressure
FaTd & 1Y g g

QID : 1165 - Which of the following statements is not true?

T Y I FUT AR & ?

Options:

1) fluids are capable of flowing

< uegrd waTg & avg :

2) fluids conform to the shape of the containing vessels

et Tar W arel UTH &l HABR o od &

3) when in equilibrium, fluids cannot sustain tangential forces
|, a¥e verd T el ot G5 8] o Gehd

4) when in equilibrium, fluids can sustain shear forces

| ¥, 9e ver U0l ae Te & ]

Correct Answer: when in equilibrium, ﬂuidg can sustain shear forces
T ¥, aee verd U 9 T

Candidate Answer: when in equilibrium, flqids can sustain shear forces
| ¥, 9 Uarl STUEU ae Ted &

QID : 1166 - The conditions of the stable equilibrium of a floating body are

Terelt e fivs o 23w arrasen & o &

Options:

1) the meta-centre should lie above the centre of gravity
g, ATy g o SO g1

2) the centre of buoyancy and the centre of gravity must lie on the same verticai line

ITATERAT Shes 3 ARy UT 2his Qe Hea e 191 X BT

3) arighting couple should be formed

Teh WG due a1

4) All options are correct

Tt faeeg ot &

Correct Answer: All options are correct

Tt faaeg ugt &

Candidate Answer: All options are correct

ot famea ol &
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QID : 1167 - A piece of metal of specific gravity 13.6 is placed in mercury of specific gravity 13.6, what fraction of it volume is under mercury?

RITg o1 Ueh gl fwiden [afSTE 9 13.6 & UN o Wt 1] & foreen @10 e 99 13.6 8, 356 A &1 foha afy ur # ghm 2

Options:
1) the metal piece will simply float over the mercury

¥Tq T Gangl ehael T TR 24T

2) the metal piece will be immersed in rmercury by half

T 31 GRgT R H ST el g

3) whole of the metal piece will be immersed with its top surface just at mercury level

RIT] T T goheT ST g1 51717 ot 3weh! aiid was ot & & X ghft

4) metal piece will sink to the bottom

¥ o1 et 1=t Tiefe den g Sl

Correct Answer: whole of the metal piece will be immersed with its top surface just at mercury level

RITq T T THaT ST g3 g o Iehi 2fiY &g U & TR o2 ghft

Candidate Answer: whola of the metal piece will be immersed with its top surface just at mercury level

RITq] T T ZahaT ST g1 5011 ot et 2fid @rdg U & &R R gl

QID : 1168 - If the surface of the liquid is convex, then
IfE ge §1 Tae sad g aY,
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Options:

1) cohesion pressure is negligible

G &g g0 s

2) cohesion pressure is decreased

T Za1g A 31t I

3) cohesion pressure is increased

HewH gaa |

4) None of these

T T o

Correct Answer: cohesion pressure is increased
i garg J gfg gt wmgft

Candidate Answer: cohesion pressure is decreased
T TEF S At TG

QID : 1169 - Liguids transmit pressure equally in all the directions. This is according to

geg Tt feamaft § 999 9 & 99 S 2. 98 39 AR
Options:

1) Boyle's law

Elenkalcun

2) Archimedes law
7 et e

3) Pascal’s law
TR &t e

4) Newton's formula

g T ThTdel

Correct Answer: Pascal’s law
UTHehel Bl

Candidate Answer: Pascal's law
TEEhe &l

QID : 1170 - Mercury is often used in barometer because:

A, Itis the best liquid
B. The height of barometer will be less
C. Its vapor pressure is so low that it may be neglected

URT HEER S<HTeR H JUaiT gtar & aifes

A. T8 099 B T &

B. S<iwiex &t g @A gt

C.3T9] ST &I 391 A BT 2 Foh 9 oRieTt 3 o1 T &
Options:

1) Only A

hae A

2) Only B

%Hhae B

3)Both Aand B
A 3T B aHt

4) Neither A nor B
THAATEEB

Correct Answer: Both A and B
A 3T B g4t

Candidate Answer: Neither A nor B
AdtA9EI B

QiD:1171-
The losses due to sudden contraction are expressed by

IS FA T Fhdel & H0T g Frelr gifaar
Fad Zanr g @ A #

vi-vi VE-v} V- 1,)2 (V1= V2)?
Al L2 3 1 (V1—V3) 3~ V2
™ LS = D=5,
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Options:
1) A Only
had A
2) B Only
&Hhae B
3)C Only
Hhaa C

4) None of these

T T e

Correct Answer: None of these

g A epig gl

Candidate Answer: [ NOT ANSWERED |

QID : 1172 - Cipolletti notch is designed as trapezoid with its sides sloping at 1 horizontal and

Rietél 91a ueh e & w9 | a-ra 1 & foreadht gad 1 dfea mgdrgg €

Options:
1) 1 vertical
1 SR
2) 2 vertical
2 SR
3) 3 vertical
3 3R
4) 4 vertical
4 FegieR

Correct Answer: 4 vertical
4 Feafer

Candidate Answer: [ NOT ANSWERED |

QID : 1173 - The flow in venturi flume takes place at

gt WA H WETE o gl v il §
Options:
1) atmospheric pressure
EEIE]
2) at pressure greater than atmospheric pressure
I T IR S ArgHS Y g & ifd
3) vacuum

4) high pressure
CCIC]
Correct Answer; atmospheric pressure
EEIC

Candidate Answer: high pressure
3T gama

QID : 1174 - A hydraulic ram acts like

BEgifer forg w0 & &R e &
Options:

1) a centrifugal pump

Ueh thaTqeRe T

2) arotary pump

U e o

3) areciprocating pump

ec o

4) an impulse pump

e omy

Correct Answer: an impulse pump
TR T 0

Candidate Answer: a reciprocating puinp
Uk ORE e T

Page 49

QID : 1175 - The rise of liquid along the walls of a revolving cylinder as compared to depression at the center with respect to initial level is

ORI TR & ATder Sa & =grar i o § 9 gY sed 6l daR & srfesr awa # gfg

Options:
1) same
HAH

2) more

3) less
ot

4) more or less depending on speed
sifd T an 7fd W R ea g
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Correct Answer: same
THA

Candidate Answer: same
TEA

QID : 1176 - The most economical section of a rectangular channel for maximum discharge is obtained when its depth is equal to

Hfaeran fEeA & T SR 3996 &1 T4 A10E T8 U1t 81T 2 ofd Tg0S SRR gt &
Options:

1|r| half the breadth

Bl =1 ameft

2; twice the breadth
; me as the breadth

reg- fourth of the breadth
a;zré, hr -t

Correct Answer: half the breadth
s i ameft

Candidate Angwer: [ NOT ANSWERED ]

Qip: 1177-

In case of a two dimensional flow the components of
velocity are given by u = ax; v = by, the point where
no motion occurs, is known as

2 Il garg % AES H, 3T F USH u = ax;
v = by, zarr fgw s €, Rig forw w1 o aify
A& g §, o

Options:
1) critical point
ehifdeh

2) neutral point
dew feig
3) stagnation point

4) None of these
A T

Correct Answer: None of these
g8 & alg AEl

Candidate Answer: stagnation point
TRty

QID : 1178 - The head loss in case of hot water flow through a pipe compared to cold water flow will be

15T & ZIRT && U ch HaTg & g1 # 77 1T &l Uais & ol Sars 3 gie gimm

Options:
1) same
THHE

2) more

3) less
o

4) more or less depending on range of temperatures
Tl a1 A aiae R AR #ear g

Correct Answer: less
G

Candidate Answer: [ NOT ANSWERED |

QID : 1179 - Maximum efficiency of transmission of power through a pipe is

U OIS & g1 Foil & 470 ) Ifdhad Zerdr &

Options:
1)0.25

2) 0.3333
3)05

4) 0.6667
Correct Answer: 0.6667
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Candidate Answer: [ NOT ANSWERED |

QID : 1180 - In the case of turbulent flow

e[S TATE % HeH #

Options:

1) it occurs in open channel

T gt el A Bla &

2) losses are proportional to square of velocity
&y

3) velocity at boundary is zero

AT R AT YA

4) shear stresses are more compared to laminar flow

SOOI §Td SAVEIEY WaTg ol gel-T A HAfSew gidi &

Correct Answer: shear stresses are more compared to laminar flow

SUEYUT §H1d SAVEIE WaTg i gei1 A Aftew gid1 &
Candidate Answer: losses are proportional to square of velocity
T §

1 &7 & &t & @y

QID : 1181 - Hydraulic grade line for any flow system as compared to energy line is

feneft wag womett & forg eregiferen e og et @gA & geT A

Options:
1) above

HOE
:?jbelow

3) at same level
THHE T O
4) may be below or above depending upon velocity of flow

A8 & 37 & SMTYR TR HUR a7 9 8 Tt &
Correct Answer: below
Bk

Candidate Answer: below
BiE|

QID : 1182 - For maximum discharge through a circular open channel, the ratio of depth of flow to diameter of channel should be

afigs ot T & g1 Afderad Ade o forg, varg &l Teg FR e & e & Sue g ey
Options:

107

2)0.5

3) 0.65

4) None of these
T & i T

Correct Answer: Mone of these
5 A enitg gl

Candidate Answer: [ NOT ANSWERED |

QID : 1183 - A triangular section in open channel flow wiil be most economical when the vertex angle at the triangle base point is

forger vt vaTs A BERivia W a9 Sfiehan @1HHG BRT Sie Behir s g ) i S g

Options:
1) 30 degree
30 fadft

2) 50 degree
50 et
3) 20 degree

20 faht

4) None of these

1 & i T

Correct Answer: None of these

39 4 Y
Candidate Answer: [ NOT ANSWERED |

QID : 1184 - The value of coefficient of velocity depends upon

1 o T[UTER & A R R g
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Options:

1) slope of orifice
fosg, it gaT

2) size of orifice
o o1 R

3) head of liquid above crifice
& R Gl T e
4) friction at the orifice surface

g fr 998 W o

Correct Answer: friction at the orifice surface

fese; ot T o¥ T

Candidate Answer: friction at the orifice surface
g 1 g W Tdor

QID : 1185 - The discharge through an orifice fitted in a tank can be increased by

¥ @ e & o 3 g | afg o gt &
Options:

1) fitting a short length of pipe to the outside
WTE Tl ANt Ueh TieT daTg & UTgd Sie &

2) sharpening the edges of orifice

ferdraRad e |

3) fitting a long length of pipe to the outside

HTEE &l a¥th Ueh wiall oidTg ahl Uiy Siie o

4) fitting a long length of pipe to the inside

3722 &l avm U Sdl aTs & uisy At o

Correct Answer: fitting a short length of pipe to the outside
TTEE &l a¥th Ueh DieT TaTg & U1gd She o

Candidate Answer: fitting a short length of pipe to the outside
TR &l a¥h Uk DI da1g & U5 Sied o

QID: 1186 - Total pressure on the top of a closed cylindrical vessel completely filled with liquid, is directly proportional to

50 & U TRE X Y G 9 AR UTH & SR Fel Sad,foheh THTat &

Options:
1) radius
[

2) square of radius
B s @t

3) cube of radius

P ar e

4) None of these

T A eng el

Correct Answer: None of these

5 A enitg gl

Candidate Answer: [ NOT ANSWERED ]

QID : 1187 - If flow in an open channel is gradually varied, then the flow will be

a2, faga voma # varg R-R ufafda frar wmer &, @t vars ghm
Options:
1) steady uniform flow
R T maETg
2) unsteady uniform flow
HAME UaTs
3) steady non-uniform flow
R ar5AT watg
4) unsteady non-uniform flow
SRR e UaTE

Correct Answer: steady non-uniform flow
e T warg

Candidate Answer: steady non-uniform flow
e armT warg

QID : 1188 - The energy loss in flow through nozzle as compared to venturimeter is

dgfeitex &t g # Aiaiel o g1 UATE ® Sl gl gl 8
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Options:
1) same
A

2) more

3) less

&

4) unpredictable
ST

Correct Answer: more

Candidate Answer: less
o

QID : 1189 - Orifice is an opening

[ErG R ek

Options:

1) with closed perimeter and of regular form through which water flows

e aRfY affe

2) with prolonged sides having length of 2 to 3 diameters of opening in thick wall
| o ATy foiTeht ias Al AR A guE & 2 § 3 =9 & aaEe &

3) with partially full flow

i =9 § quf vamg & g

4) in hydraulic structure with regulation provision

BI5E TeTeh ST | =0T W= & g

Carrect Answer: with closed perimeter and of regular form through which water flows
ECS

Candidate Answer: [ NOT ANSWERED |

QID : 1190 - The value of coefficient of discharge in comparison to coefficient of velocity is

&1 o T[UTieR & e # FAEEeoT Ui AF &
Options:
1) more

2) less
wH

3) same
GLIES

4) unpredictable
ATt

Correct Answer: less
H

Candidate Answer: more
arféen

QID : 1191 - Heating of dry steam above saturation temperature is known as

HeJftd TTIH o HUR [ W9 B TH AT dhgerial &

Options:

1) enthalpy
FEAT Hiar

2) superheating
arfasfifaar

3) super saturation

4) latent heat

T HEAT

Correct Answer: superheating
srfafiferr

Candidate Answer: superheating
arfasfifaar

QID : 1192 - The specific heat of superheated steam in kcal/kg is generally of the order of

sifasfifaa v i e s el o smdk W wmam &

Options:
101

2)0.3
3)0.5

4)0.8
Correct Answer: 0.5
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Candidate Answer: [ NOT ANSWERED |

QID : 1193 - Adiabatic process is

TS UERH &

Options:
1) essentially as isentropic process
w0 d
2) non-heat transfer process
R- T gEAieRoT ufean
3) reversible process
ET

4) constant temperature process
S JT9HT

Correct Answer: non-heat transfer process
- EHT BTNt

Candidate Answer: non-heat transfer process
- FEHT FTaETT

QID : 1194 - The diameter (in cm) of Cornish boiler is of the order of

THIfa Afaer o e (§.H1L.H) s

Options:
1)1to2
182

2)15t025
15425
3)2to3
233
4)251035
25935

Correct Answer: 1to 2
192

Candidate Answer: [ NOT ANSWERED |

QID : 1195 - Which of the following boilers is best suited to meet fluctuating demands?

e # & @i a7 afger sifde A @t g @ o o ves qugw

Options:
1) babock and wilcox

2; locomotive

3) Lancashire
AR

4) Cochran
i

Correct Answer: locomotive
R

Candidate Answer: locomotive

QID : 1196 - An engine indicator is used to determine the following

o gae - FufRa e g
Options:

1) speed

iG]

2) temperature

GIELIE

3) volume of cylinder
Rl AT

4) None of these

3 i T
Correct Answer: None of these
79 B i

Candidate Answer: speed

QID : 1197 - Diesel fuel, compared to petrol is
Sreret Fom, e A g A
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Options:
1) less difficult to ignite
Faferd &eAT & S &
2) just about the same difficult to ignite
Faferd AT GHH ¥ T e &
3) more difficult to ignite
Faferd &eaT Tl SieT &
4) highly ignitable
S &

Correct Answer: more difficult to ignite

aferd @A SHTi Hie 6

Candidate Answer: more difficult to ignite
wEferd FeT -
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QID : 1198 - The fuel air ratio in a petrol engine fitted with suction carburetor, operating with dirty air filter as compared to clean filier will be

YUY SFERER & HIY T 3N Uit §5 # S g1 S0, TITh §aT 1 Jor & 7ET g9 & 1y Fr 9 5

Options:
1) higher
3R

2) lower

W

3) remain unaffected
STITHITG el &

4) unpredictable
EprRIEIG]

Correct Answer: unpredictable
El

Candidate Answer: [ NOT ANSWERED |

QID : 1199 - Which of the following is the lightest and most volatile liquid fuel?

A B
B. 9:1
C.121
D.15:1

FPeferfaa & & @i o7 aad e 3R 95d arasfid gem Sum & 2

6:1

91
cC.121
D.15:1
Options:
1) Only A
had A
2) Only B
%Hhae B
3)OnlyC
FHad C

A,
B.

4) Only D
HIAD

Correct Answer: Only D
FHaa D

Candidate Answer: [ NOT ANSWERED ]

QID : 1200 - Ignition quality of petrol is expressed by

Uglet &t Ueaer UTadl & 588 ah [ehal Sl &

Options:
1loctane number
&

2% cetane number
=T

3) calorific value

T 7

4) self-ignition temperature

HTH-TFA JHE

Correct Answer: octane number
Bic |

Candidate Answer: octane number
e Tl
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